

Arlington Municipal Airport
Arlington, Texas
United States of America
Admissions@pro-aircraft.com
+1 682-216-6426
www.Pro-aircraft.com



COST SUMMARY

COURSE NAME	ESTIMATED COST
ENROLLMENT	\$500.00 USD
PRIVATE PILOT COURSE	\$12,120.00 USD
INSTRUMENT PILOT COURSE	\$9,500.00 USD
COMMERCIAL COURSE (ME)	\$10,970.00 USD
COMMERCIAL COURSE (SE)	\$1,650.00 USD
TIME-BUILDING (SE)	\$17,8 5 0.00 USD
ADDITIONAL CHARGES	\$5,114.00 USD
HOUSING	\$4,800.00 USD
ESTIMATED TOTAL	\$62,504.00 USD

HOUSING	COST
SHARED ROOM	\$800.00 USD/MONTH
SINGLE ROOM	\$1600.00 USD/MONTH

*SIX MONTH HOUSING IS MANDATORY
AT THE TIME OF SIGNING.

Housing is arranged by a third party source and may fluctuate based on current housing rates.

Transportation is arranged on a per student basis. \$100/Month

PRODUCT	QTY	ESTIMATED COST
CESSNA 172 (STANDARD & G5s)	5	\$150.00
PIPER SENECA PA-34 (MULTI)	1	\$320.00
REDBIRD MCX SIMULATOR (AATD)	1	\$80.00
DUAL INSTRUCTION	1	\$60.00

AIRCRAFT RATES ARE BASED OFF HOURLY HOBBS TIME AND INCLUDE FUEL

FUEL SURCHARGES MAY APPLY IF THE CURRENT FUEL RATE RISES ABOVE \$5.00/

GALLON.

ABOUTUS





Located in the South of Arlington, Texas, Pro Aircraft Flight School is your gateway to the skies. Our renowned flight training program combines expert instruction, cutting-edge facilities, and a passion for aviation to provide you with an unmatched learning experience.

Our 141 training program is based off of the Jeppesen training syllabus which complies with the Federal Aviation Administration (FAA) requirements for training. Schooling consist of both ground (classroom) lessons, briefing/debriefing sessions, and in-flight lessons. This program will take you from Private Pilot through Commercial Multi-Engine



ENROLLMENT COSTS	QTY	TOTAL COST
ENROLLMENT FEE/ I-20 PROCESSING	1	\$500.00

PAYMENT STRUCTURE

ALL FEES WILL BE PAID IN 4 INSTALLMENTS

1 INSTALLMENT	BEFORE ARRIVAL	25% OF TOTAL
2 INSTALLMENT	30 DAYS AFTER ARRIVAL	25% OF TOTAL
3 INSTALLMENT	60 DAYS AFTER ARRIVAL	25% OF TOTAL
4 INSTALLMENT	90 DAYS AFTER ARRIVAL	25% OF TOTAL



PRIVATE PILOT COURSE

SCHOOL'S AVERAGE HOURS (~2 MONTHS)

COURSE COSTS	UNIT COST	QTY	TOTAL COST	
GROUND SCHOOL - GROUP	\$600.00	1	\$600.00	
MATERIALS (EFB PACKAGE)	\$600.00	1	\$600.00	
PRE & POST FLIGHT BRIEFING	\$60.00	19	\$1,140.00	
DUAL INSTRUCTION	\$60.00	38	\$2,280.00	
CESSNA 172 RENTAL - TRAINING	\$150.00	48	\$7,200.00	
CESSNA 172 RENTAL - CHECKRIDE	\$150.00	2	\$300.00	
PRO-AIRCRAFT ESTIMATED TO	TAL:		\$12,120.00	

REMARKS:

Ground school prices are based on groups of 5 or more students. Individual ground school courses are more expensive at the rate of dual instruction for 30 hours of ground training.

All hours are based on schools average, costs can vary based on applicant skills and proficiency levels.

FAA Practical Exams are \$800.00 - \$1,250.00 each NOT INCLUDED IN THE COURSE.

FAA Knowledge Test estimated \$175.00 each*.

TSA Clearance for this course is estimated at \$150.00 *

FAA Medical Certificate: \$99.00 *

*- INCLUDED IN ADDITIONAL CHARGES

Fuel surcharges may apply is the current fuel rate rises above \$5.00/ gallon.



INSTRUMENT RATING COURSE

FAA MINIMUM HOURS (~1 MONTHS)

COURSE COSTS	UNIT COST	QTY	TOTAL COST
GROUND SCHOOL - GROUP	\$400.00	1	\$400.00
MATERIALS (EFB PACKAGE)	\$600.00	1	\$600.00
PRE & POST FLIGHT BRIEFING	\$60.00	20	\$1,200.00
DUAL INSTRUCTION	\$60.00	40	\$2,400.00
CESSNA 172 RENTAL - TRAINING	\$150.00	20	\$3,000.00
CESSNA 172 RENTAL - CHECKRIDE	\$150.00	2	\$300.00
REDBIRD MCX SIMULATOR (AATD)	\$80.00	20	\$1,600.00
PRO-AIRCRAFT ESTIMATED 1	TOTAL:		\$9,500.00

REMARKS:

Ground school prices are based on groups of 5 or more students. Individual ground school courses are more expensive at the rate of dual instruction for 30 hours of ground training.

All hours are based on school's average, costs can vary based on applicant skills and proficiency levels.

AA Practical Exams are \$800.00 - \$1,250.00 each NOT INCLUDED IN THE COURSE

FAA Knowledge Test estimated \$175.00 each*.

TSA Clearance for this course is estimated at \$150.00 *

*- INCLUDED IN ADDITIONAL CHARGES

Fuel surcharges may apply is the current fuel rate rises above \$5.00/ gallon.



COMMERCIAL (ME) COURSE

FAA MINIMUM HOURS (~1 MONTHS)

COURSE COSTS	UNIT COST	QTY	TOTAL COST
GROUND SCHOOL - GROUP	\$300.00	1	\$300.00
MATERIALS (EFB PACKAGE)	\$600.00	1	\$600.00
PRE & POST FLIGHT BRIEFING	\$60.00	11.5	\$690.00
DUAL INSTRUCTION	\$60.00	23	\$1,380.00
PIPER PA-34 RENTAL - TRAINING	\$320.00	23	\$7,360.00
PIPER PA-34 RENTAL - CHECKRIDE	\$320.00	2	\$640.00
PRO-AIRCRAFT ESTIMATED TOT	AL:		\$10,970.00

REMARKS:

Ground school prices are based on groups of 5 or more students. Individual ground school courses are more expensive at the rate of dual instruction for 30 hours of ground training.

All hours are based on schools average, costs can vary based on applicant skills and proficiency levels.

**DGCA CHECKS ARE INCLUDED IN THIS PACKAGE

FAA Practical Exams are \$800.00 - \$1,250.00 each NOT INCLUDED IN THE COURSE

FAA Knowledge Test estimated \$175.00 each*.

TSA Clearance for this course is estimated at \$150.00 *

*- INCLUDED IN ADDITIONAL CHARGES

Fuel surcharges may apply is the current fuel rate rises above \$5.00/ gallon.



COMMERCIAL (SE) COURSE

FAA MINIMUM HOURS (~7 DAYS)

COURSE COSTS	UNIT COST	QTY	TOTAL COST
PRE & POST FLIGHT BRIEFING	\$60.00	5	\$300.00
DUAL INSTRUCTION	\$60.00	5	\$300.00
CESSNA 172 RENTAL - TRAINING	\$150.00	5	\$750.00
CESSNA 172 RENTAL - CHECKRIDE	\$150.00	2	\$300.00
PRO-AIRCRAFT ESTIMATED TOTAL:			\$1,650.00

REMARKS:

All hours are based on schools average, costs can vary based on applicant skills and proficiency levels.

FAA Practical Exams are \$800.00 - \$1,250.00 each NOT INCLUDED IN THE COURSE

Fuel surcharges may apply is the current fuel rate rises above \$5.00/ gallon.



FAA MINIMUM HOURS (~7 DAYS)

COURSE COSTS	UNIT COST	QTY	TOTAL COST
CESSNA 172 RENTAL - SHARED	\$75.00	38	\$2,850.00
CESSNA 172 RENTAL - SOLO	\$150.00	100	\$15,000.00
PRO-AIRCRAFT ESTIMATED TOTAL:			\$17,850.00

REMARKS:

THIS TIME BUILDING HOURS FULLFILL BOTH FAA AND DGCA REQUIREMENTS

Fuel surcharges may apply is the current fuel rate rises above \$5.00/ gallon.



ADDITIONAL CHARGES

COURSE COSTS	UNIT COST	QTY	TOTAL COST
FAA WRITTEN EXAMS (P/I/C)	\$175.00	3	\$525.00
TSA BIOMETRICS FEE	\$100.00	1	\$100.00
TSA PER COURSE (P/I/C)	\$130.00	3	\$390.00
ADMINISTRATION FEES	\$3,500.00	1	\$3,500.00
FAA CLASS 1 MEDICAL	\$99.00	1	\$99.00
IPAD	\$500.00	1	\$500.00
PRO-AIRCRAFT ESTIMATED TOTAL:			\$5,114.00

- ANY CHANGES IN PRICE WILL BE NOTIFIED TO THE STUDENT ATLEAST 2 WEEKS PRIOR TO THE EFFECTIVE DATE
- PRICES CAN VARY DEPENDING ON FUEL RATES
- IF THERE IS ANY DELAY IN CONTRACT DUE TO WEATHER AND CHECKRIDE AVAILABILITY; 2 MONTHS HOUSING RENT WILL BE WAIVED OFF (IF AND ONLY IF STUDENT IS ON THE TRACK WITH PROGRESS)

ALL FAA CHECKRIDES TOGETHER WILL COST ANYWHERE BETWEEN \$3,200.00 USD - \$5,000.00 USD ADDITIONALLY



HOURS SUMMARY

COURSE	SOLO HOURS	DUAL HOURS	TOTAL HOURS
PRIVATE PILOT	12 (10 solo + 2 checkride)	38.0	50
INSTRUMENT PILOT	2 (checkride)	40.0 (20 single + 20 AATD)	42
COMMERCIAL PILOT ME	2 (checkride)	23 (DGCA CHECKS INCLUDED)	25
COMMERCIAL PILOT SE ADD-ON	2 (checkride)	5	7
TIME-BUILDING	138 (100 SOLO + 38 SHARED)	0	138
TOTALS	156	108	262

Single Engine: 217 hours
Multi-Engine: 25 hours

AATD (SE): 20 hours

TOTAL: 262 hours

All hours are based on FAA minimums, costs can vary based on applicant skills ad proficiency levels.